Year 5 Homework, Spring Term Week 8
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. The side of an equilateral triangle measures

. 1/3 x =4 4/6
. 1/2kg of tomatoes costs 80p. Find the cost of

. What do you have to add to 0.009 to make 1?

Maths: Speedy Six

Write 5 minutes to nine in the evening as 24 / } /

hour clock times.

How many days would a 200ml bottle of milk
last if 2 kittens were fed 5ml each four times a
day?

86mm. Find its perimeter in cm.

100g

~

Reading Comprehension
Please complete the reading comprehension.
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Spellings \

Core SUQQOI"( Optional Maths Extension:
you ,Ve also One bonus house point available
they’'ve always

we’ve almost A stack of 20 identical boxes is 140cm tall.

you'll along

they’ll already Not

you're alone actual

we're before size

she’d more 140cm
desperate mornlng Stefan takes three boxes off the top.
exaggerate or

How tall is the stack now?
1
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Homework is due in on 13t March




